# NEIGHBORHOODS OF A CERTAIN CLASS OF ANALYTIC FUNCTIONS WITH NEGATIVE COEFFICIENTS 

ADRIANA CĂTAŞ ${ }^{1}$

Communicated by K. S. Berenhaut


#### Abstract

A certain subclass of analytic functions in the open unit disc with negative coefficients is introduced. The new class is defined by means of multiplier transformations. By making use of the familiar concept of neighborhoods of analytic function, the author proves coefficient inequalities, distortion theorems and associated inclusion relations for the ( $n, \delta$ )-neighborhoods of functions belonging to the new class, which satisfy a certain nonhomogeneous CauchyEuler differential equation.


## 1. Introduction and definitions

Let $\mathcal{H}$ be the class of analytic functions in the open unit disc

$$
U=\{z \in \mathbb{C}:|z|<1\}
$$

and $\mathcal{H}[a, n]$ be the subclass of $\mathcal{H}$ consisting of functions of the form $f(z)=$ $a+a_{n} z^{n}+a_{n+1} z^{n+1}+\cdots$. Let $\mathcal{A}(n)$ denote the class of functions $f(z)$ normalized by

$$
\begin{equation*}
f(z)=z+\sum_{k=n+1}^{\infty} a_{k} z^{k}, \quad(n \in \mathbb{N}:=\{1,2,3, \ldots\}) \tag{1.1}
\end{equation*}
$$

which are analytic in the open unit disc. In particular, we set

$$
\text { and } \mathcal{A}(1):=\mathcal{A} .
$$

[^0]For two functions $f(z)$ given by (1.1) and $g(z)$ given by

$$
g(z)=z+\sum_{k=n+1}^{\infty} b_{k} z^{k}, \quad(n \in \mathbb{N})
$$

the Hadamard product (or convolution) $(f * g)(z)$ is defined, as usual, by

$$
(f * g)(z):=z+\sum_{k=n+1}^{\infty} a_{k} b_{k} z^{k}:=(g * f)(z)
$$

Definition 1.1. [8] Let $f \in \mathcal{A}(n)$. For $\delta, \lambda \in \mathbb{R}, \lambda \geq 0, \delta \geq 0, l \geq 0$, we define the multiplier transformations $I(\delta, \lambda, l)$ on $\mathcal{A}(n)$ by the following infinite series

$$
\begin{equation*}
I(\delta, \lambda, l) f(z):=z+\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{\delta} a_{k} z^{k} \tag{1.2}
\end{equation*}
$$

It follows from (1.2) that

$$
\begin{gathered}
I(0, \lambda, l) f(z)=f(z) \\
(1+l) I(2, \lambda, l) f(z)=(1-\lambda+l) I(1, \lambda, l) f(z)+\lambda z(I(1, \lambda, l) f(z))^{\prime} \\
I\left(\delta_{1}, \lambda, l\right)\left(I\left(\delta_{2}, \lambda, l\right) f(z)\right)=I\left(\delta_{2}, \lambda, l\right)\left(I\left(\delta_{1}, \lambda, l\right) f(z)\right) \\
(1+l) I(\delta+1, \lambda, l) f(z)=(1-\lambda+l) I(\delta, \lambda, l) f(z)+\lambda z(I(\delta, \lambda, l) f(z))^{\prime}
\end{gathered}
$$

Remark 1.2. For $l=0, \lambda \geq 0, \delta=m, m \in \mathbb{N}_{0}, \mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ the operator $D_{\lambda}^{m}:=$ $I(m, \lambda, 0)$ was introduced and studied by Al-Oboudi [1] which reduces to the Sălăgean differential operator [16] for $\lambda=1$. The operator $I_{l}^{m}:=I(m, 1, l)$ was studied recently by Cho and Srivastava [10] and Cho and Kim [11]. The operator $I_{m}:=I(m, 1,1)$ was studied by Uralegaddi and Somanatha [21], the operator $D_{\lambda}^{\delta}:=I(\delta, \lambda, 0)$ was introduced by Acu and Owa [7] and the operator $I(m, l):=$ $I(m, 1, l)$ was investigated recently by Kumar, Taneja and Ravichandran [19].

If $f$ is given by (1.1) then we have

$$
I(\delta, \lambda, l) f(z)=\left(f * \varphi_{\lambda, l}^{\delta}\right)(z)
$$

where

$$
\varphi_{\lambda, l}^{\delta}(z)=z+\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{\delta} z^{k} .
$$

Let $\mathcal{T}(n)$ denote the class of functions $f(z)$ of the form

$$
\begin{equation*}
f(z)=z-\sum_{k=n+1}^{\infty} a_{k} z^{k}, \quad a_{k} \geq 0, \quad n \in \mathbb{N} \tag{1.3}
\end{equation*}
$$

which are analytic in the open unit disc.
Following the earlier investigations by Goodman [12], Ruscheweyh [15] and Alintaş et al. [6], we define ( $n, \eta$ )-neighborhood of a function $f(z) \in \mathcal{T}(n)$ by

$$
\begin{equation*}
N_{n, \eta}(f):=\left\{g(z)=z-\sum_{k=n+1}^{\infty} b_{k} z^{k} \in \mathcal{T}(n): \sum_{k=n+1}^{\infty} k\left|a_{k}-b_{k}\right| \leq \eta\right\} \tag{1.4}
\end{equation*}
$$

or,

$$
\begin{equation*}
N_{n, \eta}(h):=\left\{g(z)=z-\sum_{k=n+1}^{\infty} b_{k} z^{k} \in \mathcal{T}(n): \sum_{k=n+1}^{\infty} k\left|b_{k}\right| \leq \eta\right\} \tag{1.5}
\end{equation*}
$$

where

$$
h(z)=z
$$

Let $\mathcal{S}_{n}^{*}(\alpha)$ denote the subclass of $\mathcal{T}(n)$ consisting of functions which satisfy

$$
\operatorname{Re}\left(\frac{z f^{\prime}(z)}{f(z)}\right)>\alpha, z \in U, 0 \leq \alpha<1
$$

A function $f(z)$, in $\mathcal{S}_{n}^{*}(\alpha)$ is said to be starlike of order $\alpha$ in $U$.
A function $f(z) \in \mathcal{T}(n)$ is said to be convex of order $\alpha$ it it satisfies

$$
\operatorname{Re}\left(1+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right)>\alpha, z \in U, 0 \leq \alpha<1
$$

We denote by $\mathcal{C}_{n}(\alpha)$ the subclass of $\mathcal{T}(n)$ consisting of all such functions [4].
An interesting unification of the function classes $\mathcal{S}_{n}^{*}(\alpha)$ and $\mathcal{C}_{n}(\alpha)$ is provided by the class $\mathcal{T}_{n}(\alpha, \gamma)$ of functions $f(z) \in \mathcal{T}(n)$, which also satisfy the following inequality

$$
\operatorname{Re}\left(\frac{z f^{\prime}(z)+\gamma z^{2} f^{\prime \prime}(z)}{\gamma z f^{\prime}(z)+(1-\gamma) f(z)}\right)>\alpha, z \in U, 0 \leq \alpha<1,0 \leq \gamma \leq 1
$$

The class $\mathcal{I}_{n}(\alpha, \gamma)$ was investigated by Alintaş et al. [3].

## 2. Coefficient Inequalities

In this section we will define a new class of starlike functions by using the multiplier transformations $I(m, \lambda, l), m \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}, \lambda \geq 0, l \geq 0$ as in (1.2) and we will establish certain coefficient inequalities relating to the new introduced class.

Definition 2.1. Let $0 \leq \alpha<1,0 \leq \gamma \leq 1, m \in \mathbb{N}_{0}, l \geq 0, \lambda \geq 0$. A function $f$ belonging to $\mathcal{T}(n)$ is said to be in the class $\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$ if and only if

$$
\begin{equation*}
\operatorname{Re}\left\{\frac{(1-\gamma) z(I(m, \lambda, l) f(z))^{\prime}+\gamma z(I(m+1, \lambda, l) f(z))^{\prime}}{(1-\gamma) z(I(m, \lambda, l) f(z))+\gamma z(I(m+1, \lambda, l) f(z))}\right\}>\alpha, \quad z \in U \tag{2.1}
\end{equation*}
$$

Remark 2.2. The class $\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$ is a generalization of the subclasses
i) $\mathcal{T}_{1,0}^{0}(1, \alpha, 0) \equiv \mathcal{T}^{*}(\alpha) \equiv \mathcal{S}_{1}^{*}(\alpha)$ and $\mathcal{T}_{1,0}^{1}(1, \alpha, 0) \equiv \mathcal{C}(\alpha) \equiv \mathcal{C}_{1}(\alpha)$ defined and studied by Silverman [18];
ii) $\mathcal{T}_{1,0}^{0}(n, \alpha, 0)$ and $\mathcal{T}_{1,0}^{1}(n, \alpha, 0)$ studied by Chatterjea [9] and Srivastava et al. [20];
iii) $\mathcal{T}_{1,0}^{m}(1, \alpha, 0) \equiv \mathcal{T}(m, \alpha)$ studied by Hur and Oh [13];
iv) $\mathcal{T}_{1,0}^{0}(n, \alpha, \gamma)$ studied by Kamali [14].

Theorem 2.3. Let the function $f$ be defined by (1.3). Then $f$ belongs to the class $\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$ if and only if

$$
\begin{equation*}
\sum_{k=n+1}^{\infty} c_{k}(m, \lambda, l)(k-\alpha)[1+l+\gamma \lambda(k-1)] a_{k} \leq(1+l)(1-\alpha) \tag{2.2}
\end{equation*}
$$

where

$$
\begin{equation*}
c_{k}(m, \lambda, l)=\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{m} . \tag{2.3}
\end{equation*}
$$

The result is sharp and the extremal functions are

$$
\begin{equation*}
f_{k}(z)=z-\frac{(1+l)(1-\alpha)}{c_{k}(m, \lambda, l)(k-\alpha)[1+l+\gamma \lambda(k-1)]} \cdot z^{k}, \quad k \geq n+1 \tag{2.4}
\end{equation*}
$$

Proof. Assume that the inequality (2.2) holds and let $|z|=1$. Then we have

$$
\begin{aligned}
& \quad\left|\frac{(1-\gamma) z(I(m, \lambda, l) f(z))^{\prime}+\gamma z(I(m+1, \lambda, l) f(z))^{\prime}}{(1-\gamma) z(I(m, \lambda, l) f(z))+\gamma z(I(m+1, \lambda, l) f(z))}-1\right| \\
& =\left|\frac{\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{m}\left[\frac{1+l+\gamma \lambda(k-1)}{1+l}\right](k-1) a_{k} z^{k-1}}{1-\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{m}\left[\frac{1+l+\gamma \lambda(k-1)}{1+l}\right] a_{k} z^{k-1}}\right| \\
& \leq 1+\frac{\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{m}\left[\frac{1+l+\gamma \lambda(k-1)}{1+l}\right] k a_{k}-1}{1-\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{m}\left[\frac{1+l+\gamma \lambda(k-1)}{1+l}\right] a_{k}} \leq 1-\alpha .
\end{aligned}
$$

Consequently, by the maximum modulus theorem one obtains

$$
f(z) \in \mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)
$$

Conversely, suppose that $f(z) \in \mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$. Then from (2.1) we find that

$$
\operatorname{Re}\left\{\frac{z-\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{m}\left[\frac{1+l+\gamma \lambda(k-1)}{1+l}\right] k a_{k} z^{k}}{z-\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{m}\left[\frac{1+l+\gamma \lambda(k-1)}{1+l}\right] a_{k} z^{k}}\right\}>\alpha
$$

Choose values of $z$ on the real axis such that

$$
\frac{(1-\gamma) z(I(m, \lambda, l) f(z))^{\prime}+\gamma z(I(m+1, \lambda, l) f(z))^{\prime}}{(1-\gamma) z(I(m, \lambda, l) f(z))+\gamma z(I(m+1, \lambda, l) f(z))}
$$

is real. Letting $z \rightarrow 1^{-}$through real values, we obtain

$$
\operatorname{Re}\left\{\frac{1-\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{m}\left[\frac{1+l+\gamma \lambda(k-1)}{1+l}\right] k a_{k}}{1-\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{m}\left[\frac{1+l+\gamma \lambda(k-1)}{1+l}\right] a_{k}}\right\} \geq \alpha
$$

or, equivalently

$$
\begin{aligned}
& 1-\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{m}\left[\frac{1+l+\gamma \lambda(k-1)}{1+l}\right] k a_{k} \\
\geq & \alpha\left\{1-\sum_{k=n+1}^{\infty}\left[\frac{1+\lambda(k-1)+l}{1+l}\right]^{m}\left[\frac{1+l+\gamma \lambda(k-1)}{1+l}\right] a_{k}\right\}
\end{aligned}
$$

which gives (2.2).
Remark 2.4. In the special case $\lambda=1, l=0$, Theorem 2.3 yields a result given earlier by Kamali [14].
Theorem 2.5. Let the function $f$ defined by (1.3) be in the class $\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$. Then

$$
\begin{equation*}
\sum_{k=n+1}^{\infty} a_{k} \leq \frac{(1+l)(1-\alpha)}{c_{n+1}(m, \lambda, l)(1+l+\gamma \lambda n)(n+1-\alpha)} \tag{2.5}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{k=n+1}^{\infty} k a_{k} \leq \frac{(1+l)(1-\alpha)(n+1)}{c_{n+p}(m, \lambda, l)(1+l+\gamma \lambda n)(n+1-\alpha)} \tag{2.6}
\end{equation*}
$$

The equality in (2.5) and (2.6) is attained for the function $f$ given by (2.4).
Proof. By using Theorem 2.3, we find from (2.1) that

$$
\begin{gathered}
(1+l+\gamma \lambda n)(n+1-\alpha) c_{n+p}(m, \lambda, l) \sum_{k=n+1}^{\infty} a_{k} \\
\left.\leq \sum_{k=n+1}^{\infty} c_{k}(m, \lambda, l)(k-\alpha)[1+l+\gamma \lambda(k-1)]\right\} a_{k} \leq(1+l)(1-\alpha)
\end{gathered}
$$

which immediately yields the first assertion (2.5) of Theorem 2.5.
On the other hand, taking into account the inequality (2.1), we also have

$$
(1+l+\gamma \lambda n) c_{n+p}(m, \lambda, l) \sum_{k=n+1}^{\infty}(k-\alpha) a_{k} \leq(1+l)(1-\alpha)
$$

that is

$$
\begin{gathered}
(1+l+\gamma \lambda n) c_{n+p}(m, \lambda, l) \sum_{k=n+1}^{\infty} k a_{k} \\
\leq(1+l)(1-\alpha)+\alpha(1+l+\gamma \lambda n) c_{n+p}(m, \lambda, l) \sum_{k=n+1}^{\infty} a_{k}
\end{gathered}
$$

which, in view of the coefficient inequality (2.5), can be put in the form

$$
\begin{gathered}
(1+l+\gamma \lambda n) c_{n+p}(m, \lambda, l) \sum_{k=n+1}^{\infty} k a_{k} \\
\leq(1+l)(1-\alpha)+\alpha(1+l+\gamma \lambda n) c_{n+p}(m, \lambda, l) \frac{(1+l)(1-\alpha)}{c_{n+p}(m, \lambda, l)(1+l+\gamma \lambda n)(n+1-\alpha)}
\end{gathered}
$$

and this completes the proof of (2.6).

## 3. Distortion Theorems

Theorem 3.1. Let the function $f$ defined by (1.3) be in the class $\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$. Then we have

$$
\begin{equation*}
|I(i, \lambda, l) f(z)| \geq|z|-\frac{(1+l)(1-\alpha)}{c_{k}(m-i, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)} \cdot|z|^{n+1} \tag{3.1}
\end{equation*}
$$

and

$$
\begin{equation*}
|I(i, \lambda, l) f(z)| \leq|z|+\frac{(1+l)(1-\alpha)}{c_{k}(m-i, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)} \cdot|z|^{n+1} \tag{3.2}
\end{equation*}
$$

for $z \in U$, where $0 \leq i \leq m$ and $c_{k}(m-i, \lambda, l)$ is given by (2.3).
The equalities in (3.1) and (3.2) are attained for the function $f$ given by

$$
\begin{equation*}
f_{n+1}(z)=z-\frac{(1-\alpha)(1+l)^{m+1}}{(1+\lambda n+l)^{m}(n+1-\alpha)(1+l+\gamma \lambda n)} z^{n+1} \tag{3.3}
\end{equation*}
$$

Proof. Note that $f \in \mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$ if and only if $I(i, \lambda, l) f(z) \in \mathcal{T}_{\lambda, l}^{m-i}(n, \alpha, \gamma)$, where

$$
I(i, \lambda, l) f(z)=z-\sum_{k=n+1}^{\infty} c_{k}(i, \lambda, l) a_{k} z^{k}
$$

By Theorem 2.3, we know that

$$
\begin{aligned}
& c_{k}(m-i, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n) \sum_{k=n+1}^{\infty} c_{k}(i, \lambda, l) a_{k} \leq \\
\leq & \sum_{k=n+1}^{\infty} c_{k}(m, \lambda, l)(k-\alpha)[1+l+\gamma \lambda(k-1)] a_{k} \leq(1+l)(1-\alpha)
\end{aligned}
$$

that is

$$
\sum_{k=n+1}^{\infty} c_{k}(i, \lambda, l) a_{k} \leq \frac{(1+l)(1-\alpha)}{c_{k}(m-i, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)}
$$

The assertions of (3.1) and (3.2) of Theorem 3.1 follow immediately. Finally, we note that the equalities (3.1) and (3.2) are attained for the function $f$ defined by

$$
I(i, \lambda, l) f(z)=z-\frac{(1+l)(1-\alpha)}{c_{k}(m-i, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)} z^{n+1}
$$

This completes the proof of Theorem 3.1.

Corollary 3.2. Let the function $f$ defined by (1.3) be in the class $\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$. Then we have

$$
\begin{equation*}
|f(z)| \geq|z|-\frac{(1+l)(1-\alpha)}{c_{k}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)}|z|^{n+1} \tag{3.4}
\end{equation*}
$$

and

$$
\begin{equation*}
|f(z)| \leq|z|+\frac{(1+l)(1-\alpha)}{c_{k}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)}|z|^{n+1} \tag{3.5}
\end{equation*}
$$

for $z \in U$. The equalities in (3.4) and (3.5) are attained for the function $f_{n+1}$ given in (3.3).

Corollary 3.3. Let the function $f$ defined by (1.3) be in the class $\mathcal{T}_{\lambda, l}^{m}(n, p, \alpha, \gamma)$. Then we have

$$
\begin{equation*}
\left|f^{\prime}(z)\right| \geq 1-\frac{(1+l)(1-\alpha)(n+1)}{c_{k}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)}|z|^{n} \tag{3.6}
\end{equation*}
$$

and

$$
\begin{equation*}
\left|f^{\prime}(z)\right| \leq 1+\frac{(1+l)(1-\alpha)(n+1)}{c_{k}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)}|z|^{n} \tag{3.7}
\end{equation*}
$$

for $z \in U$. The equalities in (3.6) and (3.7) are attained for the function $f_{n+1}$ given in (3.3).
Corollary 3.4. Let the function $f$ defined by (1.3) be in the class $\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$. Then the unit disc is mapped onto a domain that contains the disc

$$
|w|<\frac{c_{k}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)-(1+l)(1-\alpha)}{c_{k}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)} .
$$

The result is sharp with the extremal function $f_{n+1}$ given in (3.3).

## 4. Inclusion Relations

In this section we determine certain inclusion relations for the class $\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$, some of them involving the familiar concept of $(n, \eta)$-neighborhoods of analytic functions, defined by (1.4) and (1.5).
Theorem 4.1. Let $0 \leq \alpha<1,0 \leq \gamma_{1} \leq \gamma_{2} \leq 1, k \geq n+1, \quad n \in \mathbb{N}$ and $\lambda \geq 0$. Then

$$
\mathcal{T}_{\lambda, l}^{m}\left(n, \alpha, \gamma_{2}\right) \subseteq \mathcal{T}_{\lambda, l}^{m}\left(n, \alpha, \gamma_{1}\right)
$$

Proof. It follows from Theorem 2.3 that

$$
\begin{gathered}
\sum_{k=n+1}^{\infty} c_{k}(m, \lambda, l)(k-\alpha)\left[1+l+\gamma_{1} \lambda(k-1)\right] a_{k} \leq \\
\leq \sum_{k=n+1}^{\infty} c_{k}(m, \lambda, l)(k-\alpha)\left[1+l+\gamma_{2} \lambda(k-1)\right] a_{k} \leq(1+l)(1-\alpha)
\end{gathered}
$$

for $f \in \mathcal{T}_{\lambda, l}^{m}\left(n, \alpha, \gamma_{2}\right)$. Hence $f$ belongs to the class $\mathcal{T}_{\lambda, l}^{m}\left(n, \alpha, \gamma_{1}\right)$.
Theorem 4.2. Let $0 \leq \alpha<1,0 \leq \gamma \leq 1, k \geq n+1, n \in \mathbb{N}$ and $\lambda \geq 0$. Then

$$
\mathcal{T}_{\lambda, l}^{m+1}(n, \alpha, \gamma) \subseteq \mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)
$$

Proof. It follows from Theorem 2.3 that

$$
\begin{gathered}
\sum_{k=n+1}^{\infty} c_{k}(m, \lambda, l)(k-\alpha)[1+l+\gamma \lambda(k-1)] a_{k} \leq \\
\leq \sum_{k=n+1}^{\infty} c_{k}(m+1, \lambda, l)(k-\alpha)[1+l+\gamma \lambda(k-1)] a_{k} \leq(1+l)(1-\alpha)
\end{gathered}
$$

for $f \in \mathcal{T}_{\lambda, l}^{m+1}(n, \alpha, \gamma)$. Hence, $f$ belongs to the class $\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$.
Remark 4.3. $\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma) \subset \mathcal{T}_{\lambda, l}^{0}(n, \alpha, \gamma) \subset \mathcal{T}_{0,0}^{0}(n, \alpha, 0) \equiv \mathcal{S}_{n}^{*}(\alpha)$. Hence the functions $f$ are starlike of order $\alpha$, (univalent).

For the following theorems we shall require Definition 4.4 below.
Definition 4.4. A function $f(z) \in \mathcal{T}(n)$ is said to be in the class $\mathrm{K}_{\lambda, l}^{n}(\alpha, \gamma, \mu)$ if it satisfies the following nonhomogeneous Cauchy-Euler differential equation

$$
\begin{equation*}
z^{2} \frac{d^{2} f(z)}{d z^{2}}+2(\mu+1) z \frac{d f(z)}{d z}+\mu(\mu+1) f(z)=(1+\mu)(1+\mu+1) g(z) \tag{4.1}
\end{equation*}
$$

where, $g(z) \in \mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma), \mu>-1, \quad \mu \in \mathbb{R}$.
Theorem 4.5. If $f(z) \in \mathcal{T}(n)$ is in the class $\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$ then

$$
\begin{equation*}
\mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma) \subset N_{n, \eta}(h) \tag{4.2}
\end{equation*}
$$

where

$$
h(z)=z
$$

$N_{n, \eta}(h)$ is defined in (1.5) and

$$
\eta:=\frac{(1+l)(1-\alpha)(n+1)}{c_{n+1}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)}
$$

Proof. The assertion (4.2) would follow easily from the definition (1.5) of $N_{n, \eta}(h)$ and from the second assertion (2.6) of Theorem 2.5.
Theorem 4.6. If $f(z) \in \mathcal{T}(n)$ is in the class $\mathrm{K}_{\lambda, l}^{n}(\alpha, \gamma, \mu)$ then

$$
\mathrm{K}_{\lambda, l}^{n}(\alpha, \gamma, \mu) \subset N_{n, \eta}(g),
$$

where

$$
\eta:=\frac{(1+l)(1-\alpha)(n+1)}{c_{n+1}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)} \cdot\left\{\frac{n+(1+\mu)(1+\mu+2)}{n+1+\mu}\right\}
$$

Proof. Suppose that $f \in \mathrm{~K}_{\lambda, l}^{n}(\alpha, \gamma, \mu)$ and $f$ is given by (1.3). From (4.1) we deduce that

$$
\begin{equation*}
a_{k}=\frac{(1+\mu)(2+\mu)}{(k+\mu)(k+\mu+1)} \cdot b_{k}, \quad(k=n+1, n+2, \ldots) \tag{4.3}
\end{equation*}
$$

so that

$$
\begin{gathered}
f(z)=z-\sum_{k=n+1}^{\infty} a_{k} z^{k}=z-\sum_{k=n+1}^{\infty} \frac{(1+\mu)(2+\mu)}{(k+\mu)(k+\mu+1)} \cdot b_{k} z^{k} ; \\
g(z)=z-\sum_{k=n+1}^{\infty} b_{k} z^{k} .
\end{gathered}
$$

One obtains

$$
\sum_{k=n+1}^{\infty} k\left|a_{k}-b_{k}\right| \leq \sum_{k=n+1}^{\infty} k\left(\left|a_{k}\right|+\left|b_{k}\right|\right)=\sum_{k=n+1}^{\infty} k a_{k}+\sum_{k=n+1}^{\infty} k b_{k}, a_{k} \geq 0, b_{k} \geq 0
$$

Substituting from (4.3) into the above coefficient inequality, we have

$$
\begin{equation*}
\sum_{k=n+1}^{\infty} k\left|a_{k}-b_{k}\right| \leq \sum_{k=n+1}^{\infty} \frac{(1+\mu)(2+\mu)}{(k+\mu)(k+\mu+1)} \cdot k b_{k}+\sum_{k=n+1}^{\infty} k b_{k} . \tag{4.4}
\end{equation*}
$$

Next, since $g(z) \in \mathcal{T}_{\lambda, l}^{m}(n, \alpha, \gamma)$, the second assertion (2.6) of the Theorem 2.5 yields

$$
\begin{equation*}
k b_{k} \leq \frac{(1+l)(1-\alpha)(n+1)}{c_{n+1}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)}, k=n+1, n+2, \ldots \tag{4.5}
\end{equation*}
$$

Finally, by making use of (2.6) as well as (4.5) on the right-hand side of (4.4), we find that

$$
\begin{gathered}
\sum_{k=n+1}^{\infty} k\left|a_{k}-b_{k}\right| \leq \frac{(1+l)(1-\alpha)(n+1)}{c_{n+1}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)} \\
\cdot\left(1+\sum_{k=n+1}^{\infty} \frac{(1+\mu)(2+\mu)}{(k+\mu)(k+\mu+1)}\right)
\end{gathered}
$$

In view of the telescopic sum

$$
\begin{gathered}
\sum_{k=n+1}^{\infty} \frac{1}{(k+\mu)(k+\mu+1)}=\sum_{k=n+1}^{\infty}\left(\frac{1}{k+\mu}-\frac{1}{k+\mu+1}\right)= \\
=\lim _{s \rightarrow \infty} \sum_{k=n+1}^{s}\left(\frac{1}{k+\mu}-\frac{1}{k+\mu+1}\right)= \\
=\lim _{s \rightarrow \infty}\left(\frac{1}{n+1+\mu}-\frac{1}{s+1+\mu}\right)=\frac{1}{n+1+\mu}
\end{gathered}
$$

$(\mu \in \mathbb{R}-\{-1-n,-2-n, \ldots\})$ immediately yields

$$
\begin{gathered}
\sum_{k=n+1}^{\infty} k\left|a_{k}-b_{k}\right| \leq \\
\leq \frac{(1+l)(1-\alpha)(n+1)}{c_{n+1}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)} \cdot\left[1+\frac{(1+\mu)(2+\mu)}{n+1+\mu}\right]=
\end{gathered}
$$

$$
=\frac{(1+l)(1-\alpha)(n+1)}{c_{n+1}(m, \lambda, l)(n+1-\alpha)(1+l+\gamma \lambda n)} \cdot\left\{\frac{n+(1+\mu)(3+\mu)}{n+1+\mu}\right\}=\eta
$$

Thus, by the definition (1.3) $f \in N_{n, \eta}(g)$. This, evidently, completes the proof of Theorem 4.2.

By setting $m=0, \gamma=0, l=0, \lambda=1$ in Theorem 4.1, we arrive to the next corollary obtained earlier in [4].

Corollary 4.7. If $f(z) \in \mathcal{T}(n)$ is in the class $\mathcal{T}_{0,0}^{0}(n, \alpha, 0) \equiv \mathcal{S}_{n}^{*}(\alpha)$ then

$$
\mathcal{S}_{n}^{*}(\alpha) \subset N_{n, \eta}(h),
$$

where

$$
h(z)=z
$$

$N_{n, \eta}(h)$ is defined in (1.5) and

$$
\eta:=\frac{(1-\alpha)(n+1)}{n+1-\alpha}
$$

By setting $m=0, \gamma=1, l=0, \lambda=1$ in Theorem 4.1, we get the next corollary obtained also in [4].
Corollary 4.8. If $f(z) \in \mathcal{T}(n)$ is in the class $\mathcal{T}_{0,0}^{0}(n, \alpha, 1) \equiv \mathcal{C}_{n}(\alpha)$ then

$$
\mathcal{C}_{n}(\alpha) \subset N_{n, \eta}(h),
$$

where

$$
h(z)=z
$$

$N_{n, \eta}(h)$ is defined in (1.5) and

$$
\eta:=\frac{1-\alpha}{n+1-\alpha}
$$

## References

1. F.M. Al-Oboudi, On univalent functions defined by a generalized Sălăgean operator, Internat. J. Math. and Math. Sci., 27 (2004), 1429-1436.
2. O. Alintas, On a subclass of certain starlike functions with negative coefficients, Math. Japon., 36(1991), 489-495.
3. O. Alintaş, H. Irmak, and H.M. Srivastava, Fractional calculus and certain starlike functions with negative coefficietns, Comput. Math. Appli., 30(2)(1995), 9-15.
4. O. Alintaş and S. Owa, Neighborhoods of certain analytic functions with negative coefficient, Internat. J. Math. and Math. Sci., 19 (1996), 797-800.
5. O. Alintaş, Ö. Özkan and H.M. Srivastava, Neighborhoods of class of analytic functions with negative coefficient, Appl. Math. Lett., 13, 3 (2000), 63-67.
6. O. Alintaş, Ö. Özkan and H.M. Srivastava, Neighborhoods of a certain family of multivalent functions with negative coefficient, Comput. Math. Appli., 47, (10)-(11)(2004), 1667-1672.
7. M. Acu and S. Owa, Note on a class of starlike functions, RIMS, Kyoto, 2006.
8. A. Cătaş, Sandwich theorems associated with new multiplier transformations, preprint.
9. S.K. Chatterjea, On starlike functions, J. Pure Math., 1(1981), 23-26.
10. N.E. Cho and H.M. Srivastava, Argument estimates of certain analytic functions defined by a class of multiplier transformations, Math. Comput. Modelling, 37 (1-2) (2003), 39-49.
11. N.E. Cho and T.H. Kim, Multiplier transformations and strongly close-to-convex functions, Bull. Korean Math. Soc., 40 (3)(2003), 399-410.
12. A.W. Goodman, Univalent functions and nonanalytic curves, Proc. Amer. Math. Soc., 8(1957), 598-601.
13. M.D. Hur and G.H. Oh, On certain class of analytic functions with negative coefficients, Pusan Kyongnam Math. J., 5(1989), 69-80.
14. M. Kamali, Neighborhoods of a new class of p-valently functions with negative coefficients, Math. Ineq. Appl., vol.9, 4(2006), 661-670.
15. ST. Ruscheweyh, Neighborhoods of univalent functions, Proc. Amer. Math. Soc., 81 (1981), 521-527.
16. G.S. Sălăgean, Subclasses of univalent functions, Lecture Notes in Math., Springer Verlag, 1013(1983), 362-372.
17. A. Schild and H. Silverman, Convolutions of univalent functions with negative coefficients, Ann. Univ. Mariae Curie-Sklodowska Sect. A., 29(1975), 99-107.
18. H. Silverman, Univalent functions with negative coefficients, Proc. Amer. Math. Soc., 51(1975), 109-116.
19. S. Sivaprasad Kumar, H.C. Taneja and V. Ravichandran, Classes of multivalent functions defined by Dziok-Srivastava linear operator and multiplier transformation, Kyungpook Math. J., 46 (2006), 97-109.
20. H.M. Srivastava, S. Owa and S.K. Chatterjea, A note on certain classes of starlike functions, Rend. Sem. Mat. Univ. Padova, 77(1987), 115-124.
21. B.A. Uralegaddi and C. Somanatha, Certain classes of univalent functions, Current topics in analytic function theory, 371-374, World Sci. Publishing, River Edge, N.J., (1992).
${ }^{1}$ Faculty of Sciences, Department of Mathematics, 1 University Street, 410087, Oradea, Romania.

E-mail address: acatas@gmail.com, acatas@uoradea.ro


[^0]:    Date: Received: 12 June 2008; Accepted: 19 November 2008.
    2000 Mathematics Subject Classification. Primary 30C45; Secondary 30C50.
    Key words and phrases. Analytic function, multiplier transformation, coefficient inequality, distortion bound, inclusion relationship.

